
)MREJI( tnemeganaM dnA hcraeseR gnireenignE fo lanruoJ lanoitanretnI  
9432 :NSSI - emuloV ,8502 - eussI ,40 - 7102 lirpA ,40  

 

                                                                                              871                                                                                   ww moc.mreji.w   

 
tcartsbA —  eht ot noitcudortni na sedivorp  siseht sihT

cisab ,  tnemeganaM noitcurtsnoc  fo selpicnirP  ylla
 nac woh taht swohs hcraeser sihT .gnivas tsoc ot detaler
 dlo eht gnicalper yb tsoc tcejorp llarevo eht ecuder ew
 ni rotcaf tnatropmi na si tsoC .eno wen eht htiw lairetam
 ew tcejorP a gnitrats erofeB . tnemeganam noitcurtsnoc

cejorp latot eht etamitsE  siht ot gnidrocca dna tsoc t
.tcejorp ruo fo tegdub tuoba nalp ew noitamitse  

.I  I NOITCUDORTN  
 eht ot setaler tI .decudortni si deiduts eb ot esac ehT
 eht swohS dna sisylanA tsoC yranimilerp evitarapmoc

 detaler si yduts esac sihT .krow ni gnitsoc fo ecnereffid  eht ot
rotces , tcejorp notreviT ecneibmA -  ecneibmA fo adioN ,05

 .8102 ot 4102 si tcejorp siht fo noitaruD  .ynapmoc  dtL  .tvp
 yranimilerp evitarapmoc A .gninnur yltnerruc si tcejorp sihT
 eht ni desu lairetam eht ot detaler krow fo etamitse tsoc

  tcejorp  fo tifeneb eht swohs hcihW .ereh detpmetta si
 nac ti woh dnA .krow ni lairetam fo tnemecalper eht gnitpoda
 suoicsnoc a ,esac eht tuohguorhT .tcejorp eht fo tsoc eht tceffa
 eht fo snoitacilpmi eht yfitnedi dna ylppa ot edam si troffe

ffe dna srotcaf lareves  txen eht ni dessucsid neeb evah taht stce
 yllacisab hcraeser nwo ym si sihT .tnemucod siht fo snoitces

:gnisu era ew etis tA . etis ot detaler - 
 

skcirB fo ecalp ni SKCOLB CAA*  
nedoow fo ecalp ni swodniw & srood CVPU lanretxE*  

 wohs ot tnaw I hcraeser ym nI  gnicalper era ew yhw taht
 era tahw dna meht gnisu fo stifeneb eht era tahw dna lairetam
 eht htiw stroper evitarapmoc a yb meht neewteb ecnereffid eht

.ssecorp noitamitse  
 

 DETAREA DEVALCOTUA(CAA /HSA YLF
)skcirb yalc fo ecalp ni (SKCOLB )ETERCNOC  

 b eseht nI  a sa tcudorp etsaw rojam a si hsa ylf ,skcol
06 ot pu lairetam war -  na sa desu si hsa ylF . %07

 sekam hcihW .skcolb eseht ni lairetam etagergga
 tnemnorivne si hsa ylf dnA .thgiew ni thgil meht
 etsaw a gnisu era ew esuaceb yldneirf

ac sniatnoc hcihw(lairetam  sesuac ti dna nobr
 rotcaf niam a si sihT .lairetam elbasu a sa )noitullop

 
72 lirpA deviecer tpircsunaM 102 , 7 

natiB ameeS -  MTC( .hceT.M -  ralohcs )gnireenignE liviC –  lloR
lacinhceT MTCH ,31425171.oN  C )anayraH(720631 lahtiaK ,supma  

 rosseforP ,atpuG .P.D .rD –  ,gnireenignE liviC fo tnemtrapeD ,rosseforP
 lacinhceT MTCH  ,tnemeganaM & ygolonhceT fo egelloC anayraH

AIDNI )anayraH( lahtiaK ,supmaC  
 nagnaweD dnivrA .rD – viC fo tnemtrapeD ,.D.O.H & rosseforP  li

 MTCH  ,tnemeganaM & ygolonhceT fo egelloC anayraH ,gnireenignE
 lacinhceT AIDNI )anayraH( lahtiaK ,supmaC  

 akkiS luhaR .rE –  ,gnireenignE liviC fo tnemtrapeD rosseforP .ttssA
 lacinhceT MTCH  ,tnemeganaM & ygolonhceT fo egelloC anayraH

raH( lahtiaK ,supmaC AIDNI )anay  

 livic a sa gnisu hsa ylf fo noitaredisnoc fo
 gnirutcafunam skcirb tuB .lairetam gnireenigne
 reyal larutlucirga fo noisore dna noitadarged sesuac

vne ruo rof doog ton si hcihw lios fo .tnemnori  
  tsoc leets larutcurts eht secuder ti, thgiew thgil ot euD

 tuB .erutcurts fo daol daed ni noitcuder eht htiw
 ecalp ni skcirb esu ew fi thgiew ni yvaeh era skcirb
 esuaceb tsoc leets larutcurts sesaercni ti skcolb fo

.desaercni si daol daed  
  si sihT  sevig ti dna krow ni lairetam gnivas emit a osla

.krow yrnosam retfa ecafrus neve  & htooms eht  
  .krow kcirb naht muminim si krow kcolb fo gnitsoC

 si hcihW .tsoc si rotcaf niam ereht yllacisaB
.troper sisylana tsoc yb denialpxe  

 o stifeneb suoirav  era erehT  era hcihw skcolb gnisu f
:selbat ni woleb nwohs - 

 

 ni slairetaM fo sisylanA tsoC yranimilirP evitarapmoC
ydutS esaC A :kroW noitcurtsnoC  

natiB ameeS  , atpuG .P.D .rD  , akkiS luhaR .rE ,nagnaweD dnivrA .rD  
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kcirB dnA kcolB CAA neewteB nosirapmoC  

  

retemaraP  kcolB CAA  skcirB yalC  

eziS  htgneL   X  thgieH   X  ssenkcihT   mm526
X  mM 002  X mm052  

htgneL   X  thgieH   X  ssenkcihT  mm022   X  mm501    X
mm56  

noisicerP   eziS nI  noitairaV    / + ( mM 5.1 - ) noitairaV    / + ( mM 5 - ) 

evisserpmoC   htgnertS   53 - 2mC / gK 04  52 - 2mC / gK 03  

yrD   ytisneD   055 - ) yrD revO ( 3M / gK 056  3M / gK 0591  

teW   ytisneD   008 .xorppA - .gK 058  .gK 0042 .xorppA  

eriF   ecnatsiseR  oH 6 oT 5  ru  ruoH 2  

dnuoS   noitcudeR    xednI
)BD(  llaW kcihT mM 002 roF 54  llaW kcihT mM 032 roF 05  

lamrehT   ytivitcudnoC    .xorppA    61.0 --  71.0  18.0 .xorppA  

 oT noitpadA
suoiraV    ecafruS

sehsiniF  

kcirB nI ekiL hsiniF fO dniK llA   sI kroW
elbissoP  emaS  

ratroM   oC noitpmusn   gaB 567.0 / 4:1 htiW 3M reP 9331.0
fO  tnemeC  480.2 / 4:1 htiW 3M reP 7463.0  tnemeC fO gaB  

noitcurtsnoC   emiT  05 yad rep krow 3M 66.2   %   emiT
.gnivaS  sA srehtO kcirB htiW 3M 2   lanoitnevnoC  

ygrenE   gnivaS  
riA ).ppA( % 23 -  noitidnoC

daoL   htoB   B  gnilooC dnA gnitaeH hto
nwoD emoC lliW  

gnivaS oN  

rotcaF tifeneB tsoC  
 daoL daeD ,tcejorP nopU gnidnepeD
 leets larutcurtS nI gnivaS nehT ecudeR

.kcolb thgiew thgil gnisu tsoC  
gnivaS oN  

 tepraC oT noitubirtnoC
aerA   2 - % 3  gnivaS oN  

noitisopmoC lacimehC  
naS  htiW stcaeR hcihW % 06.ppA desU d

 hcihW CAA mroF oT ) tnemeC & emiL(
nA sI   lairetaM trenI  

sniatnoC hcihW desU sI lioS    seitirupmI cinagronI ynaM
hcihW .ctE setahpluS ekiL   ecnecserolffE nI stluseR  
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tnemnorivnE  

yldneirF  
 
 

t gnirud tcudorp etsaw a (hsA ylF  lamreh
 waR ROJAM eht si )noitareneg rewop

 latot eht fo %07 ot 06 gnitsisnoc lairetam
 noitpmusnoc retaw secuder ti dna thgiew

gniruc rof  
 

 
 sedore dna sedarged hcihw gnirutcafunaM kcirB

 noitpmusnoc retaw ni noitcuder on dna  dnal larutlucirga
gniruc rof  

 

C SISYLANA TSO  
SISYLANA  

 

:YRANOSAM KCIRB DNA KCOLB FO NO TROPER SISYLANA TSOC EVITARAPMOC -  
cemuc222.7757 = kroW fo ytitnauQ latoT  

mm 01 = ssenkciht ratroM  
mm002X042X526 =ezis kcolB  

mm56X502X022 = ezis kcirB  
desu si ratroM )dnas:tnemec(4:1  

YRNOSAM KCOLB  CIRB YRNOSAM K  

NOITPMUSNOC  KCOLB*  
         = )ratrom htiw( krow cemuc 1 ni deriuqer era skcolB fo .oN

cemuc1  
                                             kcolb eno fo emulov  

         1           =  
                                12.0X52.0X536.0  

699.92 =  
03 =  skcolB  

cemuc 1 rep skcolb 43 deen ew egatsaw %33.31 gnidulcnI  
 fo .oN( = krow latot rof deriuqer era skcolb fo rebmuN latoT

)krow latot fo ytitnauQ(X)cemuc rep skcolb  
                      222.7757X43 =  
                      skcolB 845.526752=  

          C(  = sexat gnidulcni,5702 sR= cemuc 1 fo tso
)cemuc/5072sR  

)ytitnauQ latoT(X)cemuc 1 fo tsoC( = tsoC latoT  
  222.7757X5072 =  

                           15.58369402  sR=  
serorc 70.838,64,05,1 sR gnivas era ew skcolb gnisU  

NOITPMUSNOC  KCIRB*  
era skcirB fo .oN                    = )ratrom htiw( krow cemuc 1 ni deriuqer

cemuc1  
                                             kcirb eno fo emulov  

   1                        =  
                                570.0X511.0X032.0  

skcirB 405   =  
 

 egatsaw %71 ot 61 gnidulcnI cemuc 1 rep skcirb 006 eriuqer ew  
 rep skcirb fo .oN( = krow latot rof deriuqer era skcirb fo rebmuN latoT

)krow latot fo ytitnauQ(X)cemuc  
                      222.7757X006 =  
                      skcirB 2336454=  

           gnidulcni,6 sR= kcirb 1 fo tsoC( )kcirb/818.7sR = sexat  
)ytitnauQ latoT(X)kcirb 1 fo tsoC( = tsoC latoT  

  2336454X818.7 =  
                          85.32234553 sR=  

 
 

cemuc222.7757 = kroW fo ytitnauQ latoT  
YRNOSAM KCOLB  YRNOSAM KCIRB  
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NOITPMUSNOC  RATROM*  

ratroM teW .)1  
colb cemuc 1 roF  deriuqer skcolb fo emulov,yranosam k
 )ratrom tuohtiw(  

       )kcolb 1 fo emuloV(X)cemuc rep skcolB fo oN( =  
      )2.0X42.0X526.0(X03 =  

cemuC 9.0 =  
  cemuc 1 rof deriuqer si ratroM teW  

                  1 = - 9.0  
                  cemuc 1.0=  

trom artxe %3( )egatsaw dna gnidnob rof deriuqer si ra  
 

egatsaw % 3 gnidulcni deriuqer emulov s’ratrom tew,oS  
  ratrom tew cemuc 1X30.0(+)emulov ratrom tew cemuc 1( =

)emulov  
)1.0X30.0(+1.0 =  

cemuc 301.0=  
ratroM yrD .)2  

 ov rof deriuqer si ytitnauq artxe %03 ratroM yrD nI  dna sdi
seitivac  

 
 

cemuc 1 ni deriuqer emuloV s’ratroM yrD  
          s’ratrom                   tew X03.0(+ emulov s’ratrom tew=

)emulov  
)301.0X03.0(+301.0=  

cemuc 9331.0=  
 
   = otpu decuder       si noitpmusnoC ratroM skcolB gnisU

cemuc 8032.0  
NOC LAIRETAM * NOITPMUS  

 yrD(X)krow fo emulov latoT( = emulov ratrom yrD latoT
)cemuc rep emulov s’ratrom  

9331.0X222.7757 =  
cemuc 95.4101=  

4:1  
S:C  

1Xemulov s’ratrom yrd latot = tnemeC  
                                              oitar fo muS  

1 X 95.4101            =  
                         5 

cemuc 819.202 =  
: etoN  cemuc 530.0 si emulov gaB tnemeC 1  

 = deriuqer sgaB fo oN  
 tnemec fo ytitnauq latot fo emulov  

gab 1 fo emuloV  
 
 

819.202 =  
     530.0  

sgaB 56.7975 =  
deriuqer sgab 8975 xorppA  

 
4X95.4101 = dnaS  

                           5 
tfuc 25.53Xcemuc276.118   =  

)teef cibuc 25.53 = cemuc 1(  
tfuc 985.03882 =  

 
 
 
 

NOITAMITSE TSOC*  
 tnemeC  

562 sR = gab 1 fo etaR  
543 sR = sexat lla gnidulcni etaR  

ytitnauq latot X gab 1 fo etar = tnemec fo tsoC  
sgab 8975X 543 sR =  

13,00,02 sR= hkaL 0  
dnaS  

teef cibuc rep 04 sR = tsoC dnaS  
tfuc rep 25 sR = sexat gnidulcni retfA  

NOITPMUSNOC  RATROM*  
ratroM teW .)1  

 tuohtiw( deriuqer skcirb fo emulov,yranosam kcirb cemuc 1 roF
 )ratrom  

       )kcirb 1 fo emuloV(X)cemuc rep skcirB fo oN( =  
      )560.0X501.0X22.0(X405 =  

cemuC 657.0 =  
  cemuc 1 rof deriuqer si ratroM teW  
                  1 = - 657.0  

                  cemuc 442.0=  
)egatsaw dna gnidnob ,gnillif gorf rof deriuqer si ratrom artxe %51(  

 
egatsaw % 51 gnidulcni deriuqer emulov s’ratrom tew,oS  

 )emulov ratrom tew cemuc 1X30.0(+)emulov ratrom tew cemuc 1( =  
(+442.0 = )442.0X51.0  

cemuc 6082.0=  
ratroM yrD .)2  

 seitivac dna sdiov rof deriuqer si ytitnauq artxe %03 ratroM yrD nI  
 

cemuc 1 ni deriuqer emuloV s’ratroM yrD  
         )emulov s’ratrom                   tew X03.0(+ emulov s’ratrom tew=  

)6082.0X03.0(+6082.0=  
463.0= cemuc 7  

 
 
 
 
 

NOITPMUSNOC LAIRETAM *  
 

 s’ratrom yrD(X)krow fo emulov latoT( = emulov ratrom yrD latoT
)cemuc rep emulov  

7463 .0X222.7757 =  
cemuc 14.3672=  

4:1  
S:C  

 = tnemeC  
1Xemulov s’ratrom yrd latot  

                   oitar fo muS  
 X 14 .3672            = 1 

                         5 
cemuc 286.255 =  

: etoN  cemuc 530.0 si emulov gaB tnemeC 1  
 

 = deriuqer sgaB fo oN  
 tnemec fo ytitnauq latot fo emulov  

gab 1 fo emuloV  
 

286.255 =  
     530.0  

sgaB 419.09751 =  
deriuqer sgab 19751 xorppA  

 
4X 14.3672 = dnaS  

                           5 
tfuc 25.53X cemuc 827.0122   =  

)teef cibuc 25.53 = cemuc 1(  
tfuc 850.52587 =  

 
 
 

NOITAMITSE TSOC*  
 tnemeC  

562 sR = gab 1 fo etaR  
543 sR = sexat lla gnidulcni etaR  

ytitnauq latot X gab 1 fo etar = tnemec fo tsoC  
sgab 19751 X 543 sR =  

hkaL 598,74,45 sR=  
dnaS  

teef cibuc rep 04 sR = tsoC dnaS  
tfuc rep 25 sR = sexat gnidulcni retfA  

ytitnauq latot X etar = tsoc dnaS  
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:)LANRETXE( WODNIW & ROOD CVPU -  

                             u(CVPU  srood cvpU .swodniw & srood lanretxe CVPU gnisu era ew etiS tA )edirolhc lynivylop dezicitsalpn
 lynivylop dezicitsalpnu eht era swodniw &

woN.edirolhc  a s’yad  CVPU  swodniw  era  gnimoceb  erom  ylralupop  desu  sihT  si  eud  ot  rieht  doog  ,scitehtsea  ,ytilibarud  n sio
e ,ssenfoorp  wol  ecnanetniam  ,tnemeriuqer  tseb  ria  & retaw  ,ssenthgit  dna  rieht  ytiliba  ot  edivorp  tnellecxe  lamreht  noitalusni
, ybereht  gnipleh  evas  -ria  gninoitidnoc  rewop  stsoc  ni  ,semoh  seciffo  dna  laicremmoc  .sretnec  CVPU  swodniW  emoc  htiw  a 

yrev  h ytilauq-hgi  ecafrus  ,hsinif  deruotnoc-tfos  seliforp  dna  a yteirav  fo  selyts  ot  teem  eht  sdeen  fo  eht  tsom  gnidnamed  tihcra
,stce  srengised  dna  .sresu  ehT  latnemnorivne  tifeneb  fo  gnisu  CVPU  swodniW  daetsni  fo  doow  dna  latem  swodniw  si  onehp

.lanem  euD  ot  eht ri  ytiliba  ot  evresnoc  ygrene  tuohguorht  rieht  emit-efil  morf(  lairetam-war  egats  ot  esu-ni  ,)egats  CVPU  niW
swod  era  dezingocer  sa  neerG  swodniW  ybereht  gnirocs  revo  lanoitidart  doow  dna  latem  .swodniw  CVPU  swodniW  era  eht  b

tse  tif  rof  lla  rehtaew  oitidnoc sn  tnelaverp  ssorca  aidnI  - morf  ytlas  dimuh  evisorroc  ria  fo  latsaoc  saera  ot  orez-bus  utarepmet
ser  fo  hkadaL  ot  yvaeh  sniar  fo  ijnuparrehC  ot  eht  toh  tsud  smrots  fo  lartneC  aidnI  ot  eht  cinolcyc  elag  sdniw  fo  assirO  tsaoc  t

o eht  ylemertxe  toh  stresed  fo  rahT  ni  .nahtsajaR  
                                                                                               

: sliateD lacinhceT - .etis ta deriuqer era swodniw dna srooD CVPU hcihW lairetam etis eht ot detaler era sliated esehT  
  si ruoloc eliforp CVPU .etihw  
 .nigriv CVPU  
    ssalg niboG tniaS - TS smron gnidliub neerg ot gnidroccA - .sroolf lla ta ssalg denehguot mm6 ni 054  
 .lacsaP 0212 si smron rep sa daol dniW  

 

DOOW SV CVPU  

  SWODNIW CVPU  SWODNIW NEDOOW  

 & NOISNAPXE
ODNIW FO NOITCARTNOC  W

DAEL NAC SELIFORP   OT
NOITAMROFED TCUDORP  

   
 si srood &swodniw CVPU
 laciport morf derutcafunam
 ti sekam hcihw noitalumrof

 laminim htiw elbarud
noitcartnoc dna noisnapxe  

 
 ot ytreporp tnerehni sah dooW

 dnapxe / erutsiom brosba / ehtaerb
 ot gnidael yllautneve ,tcartnoc &

d spag dna noitrotsi  

TAEH MORF NOITALUSNI  

   
 srood &swodniw CVPU

 noitalusni roirepus sedivorp
 edistuo morf emoh ruoy ot

 roop a si CVPU sa taeh
taeh fo rotcudnoc  

  
 ,taeh fo rotcudnoc roop a si dooW

 & gnilaes reporpmi revewoh
ap ot taeh wolla nac gnidneb ss  

ECNANETNIAM WOL  
   

 srood dna swodniw CVPU
 ylno ,gnitniap on eriuqer

gninaelc enituor  

 
 raluger deen swodniw nedooW

gnihsilop dna gnitniap  

YGRENE DEDDEBME WOL     
 srood dna swodniW CVPU

   
 esu srood dna swodniw nedooW

 tsoC latoT  = yrnosaM kcolB roF  
          erorC 41.682,02,20,3 sR  

 latot fo erorc 64.531,60,53,2 sR gnivas era ew skcolB gnisU(
)tsoc tcejorp  

= yrnosaM kcolB roF tsoC latoT  
erorC 6.124,62,73,5 sR  
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 sa yldneirf tnemnorivne era
 ygrene ssel yrev eriuqer yeht

 ot  lairetam war morf trevnoc
.doog dehsinif ot  

.sdoowdrah laciport  

ECNATSISER ETIMRET  
   

 srood dna swodniW CVPU
setimret ot enorp ton era  

 
 era srood dna swodniw nedooW

setimret ot enorp  

 OT ECNATSISER
NOISORROC  

   
PU  od srood &swodniW CV

 ot eud edorroc ro tsur ton
 lairetam tnerehni

scitsiretcarahc  

   
 / tsur ton od swodniw nedooW

edorroc  

 VU/TNATSISER EDAF
TNATSISER  

   
 srood dna swodniW CVPU

 VU laiceps fo edam era
 erofereht dna dnelb tnatsiser

tfa neve edaf ton od  re
nus ot erusopxe degnolorp  

 
 trats srood dna swodniw nedooW
 tnatsnoc eriuqer ; noos yrev gnidaf

gnihsinif/gnihsiloper  

ERIF  
   

 era srood & swodniw CVPU
 od dna gnihsiugnitxE fleS

erif etagaporp ton  

 
 erif hctac nac swodniw nedooW

ylisae  

EPACSE ERIF  

   
 nac srood & swodniw CVPU
 fo esac ni epacse ysae wolla

 rewol sti ot eud ;erif
 ssalg erutarepmet gninetfos

 eht fo tuo dehsup eb nac
ylisae emarf  

 
 yrev erif hctac nac flesti dooW

ylisae  

 
  

 
  

LAIRETAM GNIVAS TSOC  
 
 
 
 
 

 srooD dna swodniW CVPU

s tsoc era  05 otpu gniva - %06  

 era srooD dna swodniw nedooW

yltsoc  

 
 
 

SISYLANA TSOC  
 .son 272= stalF latoT  
 .son 24 = stalF KHB 4  
 .son 032 = stalF KHB 3  
 31 era erehT - .talF eno ni swodniw & rood lanretxe  41  
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:swodniW dna rooD lanretxE CVPU fo sisylanA tsoC - 
 = etaR cvpU tfqs rep 48.985 sR  

tfqs 15.780311= ytitnauQ latoT  
)tfqs rep etar(X)ytitnauq latot( = tsoc latoT  

serorc 9.635,30,76,6 sR = )48.985(X)15.780311( =tsoc latoT   
:etoN -   .erawdrah gnidulcni segrahc noitallatsnI %01  

2 kaeT PC(nedooW fo sisylanA tsoC dn  )doow ssalc  :swodniw dna srood lanretxe - mm56 X051 = ezis emarF  
tfR rep 552 sR =)dehsilop dna dehsinif( emarF fo etaR  

tfqs rep 0901 sR = ) ssalg denehguot mm6 htiw dehsinif(rood fo etaR  
tfqs rep 4401 sR=)ssalg denehguot mm6 htiw dehsinif (rettuhs fo etaR  

salg fo etaR tfqs rep 56 sR =)ssalg denehguot mm6(s  
         tfR 899.33798 =emarf fo ytitnauq latoT  

94.961,28,82,2 sR=552 X 899.33798 =emarf fo tsoC  
tfqS 25.89901  = rood fo ytitnauq latoT  

8.683,88,91,1 sR= 0901 X25.89901 =rood fo tsoC  
.97729 =rettuhs fo ytitnauq latoT tfqS 202  

98.684,16,86,9  sR = 4401 X 202.97729 = rettuhs fo tsoC  
tfqS 239.091 = ssalg fo ytitnauq latoT  

 85.014,21 sR = 56X239.091 = sssalg fo tsoC  
8.309,45,90,21 sR = TSOC NEDOOW LATOT  

:etoN - .erawdrah gnidulcxe segrahc noitallatsni %01  
teef gninnur = tfR  

teef 182.3 = retem 1  
teef erauqs =tfqS  

teef erauqs 67.01 = erauqs ertem 1  

)wodniW rooD nedooW SV wodniW rooD CVPU( lanretxE sisylanA tsoC evitarapmoC  

stalF  )teef .qS(ytitnauQ  )sR(tsoC CVPU  )sR(tsoC nedooW  

stalF 24X KHB 4  929,91  51.12945711  76.56926912  

stalF 032 X KHB 3  15.85139  50.14684945  9.010431401  

tsoC lairetaM latoT  2.26530766  6.679690621  

 tsoC reopnaM latoT  000495  0002992  

: tsoC latoT  2.26579276  6.679880921  

tsoC nedooW dna CVPU neewteb ecnereffiD tsoC  4.41419716 sR  

 
 NOISULCNOC  

kcolb gnisU  % 74  xorppa gnivas era ew krow yrnosam ni s
 a osla si lairetam siht dnA .tsoc tcejorp latot  ni tsoc
 ni erutcurts htgiew thgil nI .lairetam tnatsiser ekauqhtrae
 thgiew thgil si tnemeriuqer larutcurts ,enoz ekauqhtrae

la era ew nosaer siht ot euD .lairetam  leets artxe eht gnivas os
.krow ni lairetam gnivas emit a osla si ti dnA .tsoc  

  gnivas era ew ) lanretxE ( swodniw dna rood CVPU gnisU
 fo etar retsaf edivorp tI .tsoc tcejorp latot ni tsoc % 25 xorppa

nimusnoc tsoc dna emit si krow nedoow tuB .krow ni emit .g  
 krow tcejorp ni lairetam owt eseht gnisu taht yas nac ew sA

tcejorp ruo sekam  

 evitceffe tsoC  
gnivas emiT  

derussA ytilauQ  
 

SECNEREFER  
.1   , gninnalP :tnemeganaM tcejorP noitcurtsnoC

 araktihC .K .K yb gnillortnoC dna gniludehcS
liH warG cM noitide drihT,4102  snoitacudE l

 .srehsilbuP  
.2   yroehT :gnireenignE liviC ni gnitsoC dna gnitamitsE

 snoitulavE dna snoitacificepS gnidulcni ecitcarP dna
72,attuD .N.B yb ht   noitidE   & srehsilbuP SBU

srotubirtsiD . 



                                                    
snoC ni slairetaM fo sisylanA tsoC yranimilirP evitarapmoC ydutS esaC A :kroW noitcurt  
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.3   .N.P yB :koobdnaH sreenignE liviC lacitcarP naidnI
.srehsilbuP sreenignE, 5002 annahK  

.4   :noitaulaV dna gniyevruS ytitnauQ
 .P .S yB gnitcartnoC dna gnitsoC,noitamitsE

yajnaS dna najahaM   .cnI nahsakarP aytaS,najahaM
.snoitacilbuP aidni hceT  

.5   RAD( :ihleD roF setaR fo sisylanA –  yB 4102,)2 loV
)aidnI fo tnemnrevoG( DWPC  

 


